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1. In the given figure, AABC is right angled at B. If BC = 9 cm and £C = 30°, find AB and AC
A

30°
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(i) 3\/:3Lcm&20cm (i) 3v3ecm&18cm (iii) 3v3cm&6v3cm (iv) 3v3cm&20cm (v) 3v3cm&6v3cm

2. In the given figure, AGHI is right angled at H. If Hl = 10 cm and 41 = 45°, find GH and Gl
G
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(i) 11cm &10v2cm (i) 11cm&20cm (iii) 9cm&22cm (iv) 11cm&22cm  (v) 10cm &10v2cm

3. In the given figure, AEFG is right angled at F. If FG = 11 cm and 4G = 60°, find EF and EG
E
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4 4_ - 4_
(i) 11v3cm&22cm (ii) 11v3cm&24cm (iii) 11cm&24cm (iv) 11v3cm&22cm (v) 11v3cm&21cm

4. In the given figure, ACED is right angled at D. If CD = 7 cm and £ZE = 30°, find CE

E b

(i) 15cm (ii) 17cm (iii) 12cm (iv) 13cm (v) 14cm



5. In the given figure, AFHG is right angled at G. If FG = 7 cm and £ZH = 30°, find GH

(i) 21cm (i) 21 v2cm (i) 7v18cm (iv) 7cm (v) 7v3cm

6. In the given figure, AEGF is right angled at F. If EF = 9 cm and £G = 30°, find EH

(i) 5 (i) 2 (iii) £ (iv) 1 (v) !
) Sem (i) Jem (i) —=em (V) —cm (v) S cm

7. In the given figure, ACED is right angled at D. If CD = 7 cm and £ZE = 30°, find EF

E D
(i) 21 (i) L (iii) 21 (iv) 23 (v) 21
) oem (i) —em (i) —-em (iv) —-em (v cm

8. In the given figure, ACED is right angled at D. If CD = 15 cm and £E = 45°, find CE
C
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(i) 15v2cm (ii) -2 v12cm (iii) 30cm (iv) 15cm (v) 30v3cm

9. In the given figure, AACB is right angled at B. If AB = 13 cm and £C = 45°, find BC
A

Wa et

(i) 12cm (ii) 13cm (iii) 14cm (iv) 11cm (v) 15cm



10. In the given figure, AFHG is right angled at G. If FG = 16 cm and 4ZH = 45°, find FI
F

Wwo g1

(i) 8cm (ii) 16cm (iii) 16v3cm (iv) 8v2cm (v) 4v12cm

11. In the given figure, AGIH is right angled at H. If GH = 15 cm and 41| = 45°, find |J
G

Wwo g1

. 15 .15 .15 . )
(i) -2 cm (i) -4 v12cm (iii) 5 v2cm (iv) 15cm (v) 15v3cm

12. In the given figure, AACB is right angled at B. If AB = 27 cm and £C = 60°, find AC
A

Wi fg

(i) 18v18cm (ii) 54cm (iii) 18cm (iv) 27v2cm (v) 18v3cm



13. In the given figure, ACED is right angled at D. If CD = 24 cm and £ZE = 60°, find DE
C

w3 $Z

(i) 24cm (ii) 12v2cm (iii) 8cm (iv) 8v3cm (v) 8v18cm

14. In the given figure, AEGF is right angled at F. If EF = 24 cm and £G = 60°, find EH
E
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(i) 18v2cm (i) 12v3cm (iii) 12cm (iv) 36cm (v) 12v18cm

15. In the given figure, AFHG is right angled at G. If FG = 21 cm and £ZH = 60°, find HI
F
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(i) ! V18 (i) 21 (iii) 21 V2 (iv) ’ (v) ’ v3cm
iv m (v
S cm (i) —-em (i) - -v2em 5 ¢ ,V3c



In the given figure, ABCD is a right angle triangle with £D = 90° and CD = 17 cm. R is the mid-point of BD. Find

16.
RD
B
R
c 17 cm D
17 17 17 . 17 17
(i) v18cm (ii) cm (i) v2ecm (iv) cm (v) v3cm
6 6 4 2 6

In the given figure, ABCD is a right angle triangle with D = 90° and CD = 14 cm. S is the mid-point of BD. Find
" the length of the altitude from D to BC.
B
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c m D

(i) 8cm (ii) 9cm (iii) 5cm (iv) 7cm (v) 6cm

18. In the given figure, AHIJ is a right angle triangle with £) = 90° and I} = 13 cm. Q is the mid-point of HJ. Find Q)

12 em

(i) 2 (i) - (iii) 1 (iv) = (v) 7cm
) oem (i) —cem (i) —-cm (iv) —-cm c

In the given figure, AlJK is a right angle triangle with ZK = 90° and JK = 17 cm. P is the mid-point of IK. Find the
" length of the altitude from K to I].

17 ecm

. B . 17 ) 17 17
(i) 17cm (i) 17v3cm (iii) > cm  (iv) > v2cm (v) 2 v12cm



In the given figure, ACDE is a right angle triangle with ZE = 90° and DE = 13 cm. P is the mid-point of CE. Find

20.
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39

. 13 3 . 39 13 .
(i) 5 cm (i) > v3cm (iii) cm (iv) 2 v2cm (v) > v18cm

In the given figure, AFGH is a right angle triangle with ZH = 90° and GH = 16 cm. P is the mid-point of FH. Find

" the length of the altitude from H to FG.

l6cm H

(i) 8v18cm (ii) 24cm (iii)) 12v2cm (iv) 8v3cm (v) 8cm

22. In the given figure, if DF—EF=2 cm,andDE = 10 cm, findsin D

D]

10 ecm

F

(i) : (i) 2 (iii) '14 (iv) 10 (v) =
) g ) o7 i) o (v)oo V)



23. In the given figure, if FH=GH=2 cm,andFG = 6 cm,findcos F

F

&cm

(i) > (i) 1 (iii) 3 (iv)
7 5

24. In the given figure, if BD—CD=2 cm,andBC = 8 cm,findtan B

B

E
[ =]
@

(i) Y (i) ; (iii) > (iv) L3 (v) o
i i) S (i) o (v) o () g

25. In the given figure, if DF+EF=32 cm,andDE = 8 cm, findsin D

D

E
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@
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(i) (ii) 17

By B (iii) 1 (iv)
T 1o i iv

26. In the given figure, if FH+GH=50 cm,andFG = 10 cm,findcos F

F
5
-
G H
(i) > (i) . (iii) > (iv) J (v) >
13 3 11 13 13

27. In the given figure, if DF+EF=32 cm,andDE = 8 cm,findtan D

D
5
L= +]
E F
(i) (if) B (iif) Y (iv) = (v) >
8 8 2



Assignment Key

1) (iii) 2) (v) 3) (iv) 4) (v) 5) (v) 6) (ii)
7) (iii) 8) (i) 9) (ii) 10) (iv) 11) (iii) 12) (v)
13) (iv) 14) (ii) 15) (v) 16) (v) 17) (iv) 18) (ii)
19) (iv) 20) (ii) 21) (iv) 22) (v) 23) (iii) 24) (v)
25) (iv) 26) (v) 27) (iv)

Copyright © Small Systems Computing Pvt. Ltd.



